Exam 3 Review

Name:

1. What is the output of this program? Draw the function frame diagrams (showing the vari-
ables in each function frame) while tracing the code.

mystA(x: int, a: list) -> None:

al0] = af0] + 1

x=x+1

print(x)

print(a)

1

mystB(x: int, lst: list) -> int:

lstc = 1lst

1st = [0,0]

1stc[0] = 6

print(x)

print(lst)

main() -> None:

x=0

y =3

1st = [5,9,7]
x = mystA(x, lst)
print(x, y)
print(lst)
x=x+1
y=y-1
lstc = 1st
1st[1] = 2
print(x, y)
print(lst)
print(lstc)
mystB(y, 1lst)
print(x, y)
print(lst)
1st = [1,2,3]
print(lst)
print(1lstc)
1stc[2] = 10
print(lst)
print(1lstc)

main()
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Consider the following code snippet:

i range(4):

print ("Outer loop")
j range (5) :
print("Inner loop")

2. How many times will Outer loop be printed by the program below?

3. How many times will Inner loop be printed by the program below?

4. What does the following code snippet output? Draw the tracing loop table.

i range(3):
j range(3):
print(i,j)

5. What does the following program print? Draw the tracing loop table.

printit(n: int) -> None:
i range(n) :

j range (i+1):
s =g + "x"
print(s)

printit(4)




Consider the following code snippet:

i range(2,12,2):
print ("Outer loop")
j range(1,3):
print ("Inner loop")

6. How many times will Outer loop be printed by the program below?

7. How many times will Inner loop be printed by the program below?

8. What does the following program print? Draw the tracing loop table.

sumit (lst: list) -> None:
s =0
i=20
s >= 0:
value 1st[i]:
s = s + value
print(i, s)
i+=1
sumit([[1,2,3],[2, -4],[1,-11,1], [2,2]1])

9. What does the following program print? Draw the tracing loop table.

funcX(items: list, n: int) -> None:
print(n)
n > 0:
n=n-2
g = o
print(n)
item items:
zZ += item[n]
print(z)
print(n)
funcX(["apple", "banana", "cherry", "doughnut"], 3)




